Attempt ......... questions

' Least count of vernier callipers is
A.0.0lmm B.0.0lcm

? A student found the diameter of a wire as
1.032 mm with help of Screw Gauge. To
what extent do you agree with him?

(a) 1 mm (b) 1.0 mm

(¢) 1.03 mm (d) 1.032 mm
3 Which is the smallest Quantity

A.0.01g B.2mg

4 Leastcount of screw guage is

A. lecm B.0.001m

> Amount of a substance in terms of number is measured in

B.Kilogramrl/f}K

A. Gramﬂj

6
One Giga Gram is equal to

A 10g B.10'g
7 Itis Base Quanity

A. Distance b B. Areal
® One micro meter is equal to

A.10"m B0 "m
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(b) 1.0 mm
(d) 1.032 mm
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(a) 1 mm
(¢) 1.03 mm
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